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BIRZEIT UNIVERSITY
MATHEMATICS DEPARTMENT
MATHI1411 - QUIZ 3

Narne i ccomeassomspsnes Student Number.......ccvvveeeeiinn Section l Q / lQ)
Question #1: 3.5 \-
Find the volume of the sohd generated by revolving the area enclosed between the curve y = > ,the

y-axis and the lines y = 1 and y = 2 about the y-axis (Disk method)
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Question #2: 2.5 P

Find the volume of solid generated by revolving the area enclosed between the carves y = z? and —\—

y = x about the y-axis (using shell method)
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Question #3: 2 P)r

Find the area enclosed between the curve 2 = 3%, the x-axis, and the line z = y+2
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Question #1: 2 5 El'_' .
Find the volume of solid generated by revolving the area enclosed between the carves 7{1
y=x? , y-axis , and y = 1 about the y = —1 (using washer method) /\Qﬁ;

Wosher Method
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Question #@ = _‘3—2—-—-11——

Find the volume of solid genelja%d by revolving the area enclosed between the carves
y=a?* , y-axis , and y = 1 about the y-axis (using shell method) gij)i
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Question #3:

Find the area enclosed between the curve ¥ = 2 — 22, the y-axis, and the line y =2z
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Question #1: 3.5 Pk
Find the volume of the solid generated by revolving the region enclosed between the culga

4y = 15/2, =10, 'ri — 1 about the line 2z = 1 (using Shell Method)
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Question #2: 2.5 fPlr

Find the volume of solid generated by revolving the region enclosed between the carves y = /=,
x-axis, 0 < x < 4 about the y = —2 using washer method (Don’t Evaluate Integral)
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Question #ﬁi_gﬁb

Find the area enclosed between the curve 2 = y?, the x-axis, and the line z = y + 2 = .}L._’L




